

$$\underline{\exists DO(1) \subset CV \cap \mathbb{H}.$$

$$\frac{dy}{dx} + p(x)y = q(x)$$

$$y_g = C_1 y_{g/h} + y_{p/q}$$

$$y_{g/h} \quad \frac{dy}{dx} + p(x)y = 0$$

$$\frac{dy}{dx} = -p(x)y$$

$$dy = -p(x)dx \cdot y$$

Método de
separación
de variables.

$$\frac{dy}{y} = -p(x)dx$$

$$\int \frac{dy}{y} = -\int p(x)dx$$

$$\ln y + C_1 = -\int p(x)dx$$

$$\ln y - \ln C_1 = -\int p(x)dx$$

$$\ln \left(\frac{y}{C_1} \right) = -\int p(x)dx$$

$$\frac{y}{C_1} = e^{-\int p(x)dx}$$

$$\vdash \frac{y}{g/h} = C_1 e^{-\int p(x)dx}$$

$$\vdash \frac{dy}{dx} + p(x)y = 0$$

$$\frac{dy}{dx} + y \cos(x) = 0$$

$$p(x) = \cos(x)$$

$$y = C_1 e^{-\int \cos(x) dx}$$

$$\boxed{y = C_1 e^{-\sin(x)}}$$

$$\frac{dy}{dx} + p(x)y = q(x)$$

$$e^{\int p(x) dx} \left(\frac{dy}{dx} + p(x)y \right) = e^{\int p(x) dx} q(x)$$

$$\frac{d}{dx} (y e^{\int p(x) dx}) = e^{\int p(x) dx} q(x)$$

$$\int d(y e^{\int p(x) dx}) = \int e^{\int p(x) dx} q(x) dx$$

$$y e^{\int p(x) dx} = C_1 + \int e^{\int p(x) dx} q(x) dx$$

$$\boxed{y = C_1 e^{-\int p(x) dx} + e^{-\int p(x) dx} \int e^{\int p(x) dx} q(x) dx}$$

$$x \operatorname{sen}(x) y' + (\operatorname{sen}(x) - x \cos(x)) y = \operatorname{sen}(x) \cos(x) - x$$

$$\frac{dy}{dx} + p(x) y = q(x)$$

$$y' + \frac{(\operatorname{sen}(x) - x \cos(x))}{x \operatorname{sen}(x)} y = \frac{(\operatorname{sen}(x) \cos(x) - x)}{x \operatorname{sen}(x)}$$

$p(x)$
 $q(x)$

$$\frac{dy}{dx} + p(x)y = 0$$

$$\frac{dy}{dx} \cdot e^{+\int p(x)dx} + p(x)y e^{+\int p(x)dx} = 0$$

$$\frac{d}{dx}(y \cdot e^{+\int p(x)dx}) = 0$$

$$d(y e^{+\int p(x)dx}) = 0$$

$$\int d(y e^{+\int p(x)dx}) = C_1$$

$$y e^{+\int p(x)dx} = C_1$$

$$y = C_1 e^{-\int p(x)dx}$$

Capítulo 2. $\text{EDO}(n) \text{ LCC NH. } n \geq 1$

$$\frac{d^n y}{dx^n} + a_1 \frac{d^{n-1} y}{dx^{n-1}} + \dots + a_{n-1} \frac{dy}{dx} + a_n y = Q(x)$$

Homogenea asociada

$$\frac{d^n y}{dx^n} + a_1 \frac{d^{n-1} y}{dx^{n-1}} + \dots + a_{n-1} \frac{dy}{dx} + a_n y = 0$$

$n=2$

$$\frac{d^2 y}{dx^2} + a_1 \frac{dy}{dx} + a_2 y = 0$$

$$y_p = e^{ax} \checkmark$$

$$\frac{dy}{dx} + a y = 0 \quad y = c_1 e^{-a \int dx}$$

$$r = a \quad y = c_1 e^{-ax}$$

$$\frac{d^2 y}{dx^2} + a_1 \frac{dy}{dx} + a_2 y = 0$$

$$y = e^{mx}$$

$$\frac{dy}{dx} = m e^{mx}$$

$$m^2 e^{mx} + a_1 m e^{mx} + a_2 e^{mx} = 0$$

$$\frac{d^2 y}{dx^2} = m^2 e^{mx} \quad (m^2 + a_1 m + a_2) e^{mx} = 0$$

$$\boxed{y = 0 \quad y' = 0 \quad y'' = 0}$$

$e^{mx} = 0$
SOLUCIÓN
TRIVIAL

$$y'' + a_1 y' + a_2 y = 0$$

$$(0) + a_1(0) + a_2(0) = 0$$

$$0 \equiv 0$$

$$m^2 + a_1 m + a_2 = 0$$

Ecuación CARACTERÍSTICA.

$$\text{Si } m_1 \neq m_2$$

$$y = c_1 e^{m_1 x} + c_2 e^{m_2 x}$$

$$\begin{matrix} m_1 \\ m_2 \end{matrix}$$

$$y_1 = e^{m_1 x}$$

$$y_2 = e^{m_2 x}$$